#2  im _2x+54 -2
Y= Sscl’ﬂ‘*llx—-L/,

— i _CZ%HZ)MH 1]

—

x>~ @r— 1)+ -3

J [
i?_’_ ”"ﬂfv bl =
Y20 <.
9] __L(xﬂl
= ’L"‘“" 2042) (WD) _ M ]
2
4

L) =230 =% +4 =I

Loz 20 wtd A (3)-

o (22-xtw) = (1) _ h 2% IS
w23 =3 ~+73 P .

=




£ (k) — %)

CeCank lIne ALcr]u :

; (x+h) = X
bt Clope ] L7 = [T frh) *—HI
gt bt clpe £ = A

A |
The Aunirohee Fandhon




S FW\C?L oy AR s ’[KA»«% —@/\f

BE
fed= 2% - +¢
y.L-If27~h-f’f"L

[l @w— (erh) * LU= [Zﬁ;““ﬂiﬁ?—x

qﬂ’m = T h
h> ,

= lhen fz{f’* brh+ 2 *7?*241*#7/“‘% _

=2 O

n h
_ lim hfxezh -1 ]
W7 © \ = 4=

g -\ f'6)= 46)-( = |
£03) ;
Fo) = |
Floo = D

U Ly = =D
x = fp <= ¥comvd- of

ety



/

B fnd £ v fee) = 4/ 2p

jc(\} A|;y\o /\L:Z(\ﬂ'f'h)‘f‘{‘ _/\/Zi*l
n

. [ZEn o+ (Tl
J20eth) HL et

_ l\:m Qb)) H| — (2++1)
S0 L
h [\{ 2(yth) +1 [ 2%+ ]
e XA 204 D

MRS S [T wrals vl "2z

$lod = —
J 2%




7

Bt fond flony fov n%f
Xt 2_-
xth

. hm  xhoe 2.

’FC‘.‘- kﬂ?@ ((\ -
(QH\J (w2 _)C.Cl“f“l-\-l"?»)
_m e (xx2)  (e@Derh+2)

N o) N



e (L+2) v (xth+2)

_ lIm () (xx2) (2 xtht2)




(nClVe2 sl;u

O~
&
3
S
<
LoNLAVR A o AP
— - - —

/ —
Wk heppes when 60 = 0 |
CD VYT IA @ M L WA LI @ ’Ja{‘f/)‘ ﬂ"GMﬁL




AW .
(D) fnd £ (%) i ArA Vs A Fom

(@) fu) = Bx -Cx + 2

0 o= [ =%
O fe) = Tax—7

X+ 2
@ fr’(%): 2*;-{.-:/

(@) TF for= xt-xX+1, And £(2).
CD" @15,1,\0( g Ay, ﬁmM»})



